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1. — P il o7, ARG DL AP IR

F—0 e TR B bR B S EHO . B AR IR R S D s B AR B R R E bR
[KARTE EFb s 15 4 J8 22 G il MR e 3 38 I AT AL 2R, VAR PR (1) [ KR JE N0, SR 3 5 v
s rHEINE R En, THE A8 - M logk (100/T0) JyEEHIN) ,n=1ogk (100/T0) s *41ogk (100/
T0) AR BT , n KT Logk (100/T0) (1) f5 /N EEHY s

50 OO AR R B E AT RO, R INIRET , IR B Tn = T0*K", LRI ) A
2~T/INI 5 A HITEL PR PG 40 L5 1) T 25 1 B e, 125 & Heni JE A 28 Hgn =Hb+F bk 7V
H KA AN ELK< s N IR AR B 0= 1 BEROINIR G X W2 e g S AT V8 45

W50, FEIR BRI E T R 50 5 1 4 B B 4% 51 Bl = T D , HRARFRAS/INI I , TR AR 5 35 )
H HARE .

2 WA AR EE SR 1 BT IR 1 — Pl 351 i3 77 %, HARRIEAE T« S5 b R RO 2
BT AT TnAe 75 <<190°C , A& WX 5 25 E AT SR AL FE o
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— M E R HIE TR

B GuE
[0001] AT W] Je T 008 e BRI, 70 S — i i iy SRR B RE T I 0 ik

BREAR

[0002]  SxF Qi 4 S+ 3 B AR AR B BE 775 A8 SCHR R SR AL T i IR T VA o AE SR R I 5 R A
i AT BAT M A A GRS KR F17KOT # AR RS, B 25 TRCE B R 8] f) SE
A, S RUT R ERF PEAR AL I S, 75 5 R A

LZHRAR

[0003] AT B A « Sl — Pl S i 7 ik

[0004] AR HIHIHIARTT S0 -

[0005] AR HIHRME 1 — R G E , AR LT PR

[0006]  B5— B I B AR HH R EHO B bR I Bl i BEHb s B b 1 B = 2 2 B AR
w1 LR AR T BFD 2 JR 22 St D IR R 8 AT b 7R, T b PR (] R B2 D O , FAAb 7R
JEVH s TSR B, TS AN 21 ogk (100/T0) yEEHT ,n=1ogk (100/T0) ; 41 ogk
(100/70) FyFEEHURS , n 2y KT Logk (100/T0) H e /N EER

[0007] 35 % nf b o R 3R B BEAT n SO » BRI AR A T =TO*K" , {R
I [1) 2 27 /N s BRI IR 24758035 3] T 25 &1 [ Hen , 112011 B Heniif /2 22 20 : Hgn = Hb+Fb%
KOs b KA A8 8 K<L sn I A7, n = 1 BRI o X W e 3 S AT 44 0 4
[0008] i J5— 2 , AEFRAGE IR I R 90 558 1 44 3 g £ O Bl 5 B2 Hb , I ORHTF 48/ i, PR A 3
R H HRE.

[0009]  gE—2BRY, 58 20 FERRROINIE 2 BT A Toe 75 << 190°C , 42 WUl 38 38 g AT 3R 10
AbFE

[0010] A HIAT G RS2 «

[0011]  SERRIER], R AIAK W 5, B R AR B RE J1 W] AR T, i i RO AR e ke B e

B (E135E BA
[0012] P& 13 A B o A3 1 3 2 AR T 1) S R i I

BARSHES R

[0013] "R Af AR B ) B A s i 7 gk — P P an Ui

[0014]  iES KL, 3R ft 7 — R R f 7%, AR LU D IR

[0015] 530 B SR 1K) B bR 1 EH o BEHO L B bR B i s B bR B A ) bR
1 FE AR T B b 5 R < J8 22 G ] Dy MR T 8L 3% I g AT PAAL I, Fh A 2 ] KR JE N TO, FAAb
JE VA H s T EIR IR Bn, A O : M log (100/T0) NEEHRS ,n=1ogk (100/T0) ; 4 1ogk
(100/70) AHEEEELRF , n KT Logk (100/T0) 1 /NEEEY s
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[0016] 58 20 X bbb e 5 25 AT ndR VR, R VK IR, i iR N Tn=TO*K" , {R &
B 7] A 27 /NI 5 B ROINIEL Y T 4t 2 3 12201 S Hgn » 1 2501 ¥ Hgn i /2 2 2 : Hgn =Hb+F b
KO Hor, K?r/l\%"ﬂiﬁz K< Lsn A LA T n = 1 BRI FE A e B B AT A A«
[0017]  fja-—0 , FEIREE I TR0 9058 s 4 31 e 2 Fel /=1 P2 Hb, AR R4S/ i, Yk &2 3
R H HIRAE

[0018]  j#— iFE[’J BB FERRKOINGR Z AT AT Tt 35 <<190°C , A2 M 3 3 3E4T R 1
AbFE

[0019]  sCjafs1

[0020]  iffili& —HO=150, Hb= 100K H 4 3 3% , O Fnde FHAF B [ KR EE300°C , K=
0.7, H [H) AN R 2, D0 550 3 1) S5 L i AR I A s A FE T

[0021] 3 . Bethil R 47 % I H b 8 ,n =0, T 20/ EHg0 =Hb+FbsK "V =171, [A] ki
FEETO=TO0+K"=300°C ,{fi. 1h;

[0022] 255 . B 1URINE A 20, n=1, T Z & FHg1 =Hb+FbxK "™ = 150, i 205 FET1
=T0xK'=210°C , {7 2-7h;

[0023] G Qn R TR ERMAL IR, BIAEEE — P S =02 [W#HT)

[0024] &5 =45 G20k AN INAT I 20, n=2, T. & & ffHg2 =Hb+Fb*K ™V =135, I 246 B T2
=T0*K*=147C , {7 2-Th;

[0025] SR PUE . 3R IR I 2%, n=23, T. 2 & & Hg3 =Hb+Fb*K ©™ = 124. 5, i 50 &
T3=T0*K*=103°C , {fIH2-7h.

[0026] 55 . AR N 22, n=3, T. 2 & g4 =Hb+Fb*K “™V =117, I 26 T3
=T0*K'=72°C, K AT3<100°C, IFLAIET3=80C , {f-1R2-Th.

[0027] & J5—A .Hg=Hb=100,T="H1& , (R{FF48h, R 5 EI %
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